DBCI DOORS

4645 Timber Ridge Dr. Suite 250
Douglasville, GA 30135

PHONE (888) 679-1066

www.dbci.com

SHAFT HOIST WITH SPACER

Rev. Date: 9/29/2022 810040-0000

(2 Per) Washer, ZP, 3/8"

Washer, Lock, ZP, 3/8"

BOLT HEX, 3/8-16 x 2-3/4 UNC GR5

HOIST, SHAFT, JR/IRD-41A40-3-20', 4:1 (DB)

1 %6 STAMPED AXLE SUPPORT

SUPPORT, SPACER, 41A40

SPROCKET, 41A40, 3" W/ BUSHINGS

/ T-BRACKET

4:1 SHAFT HOIST IMPACT DRIVER WARNING!

DO NOT OVER TIGHTEN BOLTS. OVERTIGHTENING OF BOLTS WILL RESULT IN DAMAGE TO ASSEMBLY.

Washer, Lock, ZP, 3/8"

Bolt, Hex Head, 3/8-16 x 3-1/2" UNC, GR5

HOIST, SHAFT, JR/RD-8:1
/ 1 %e STAMPED AXLE SUPPORT

/ T-BRACKET

(2 Per) Washer, ZP, 3/8"

SPROCKET, 41A72, 9" W/ BUSHINGS

8:1 SHAFT HOIST

—




